X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 *”%(71 85) #3 3 E%f%jt(@ 7)
1 NS: =008 REERGHO) -3 8 NS: 2PEEE REE(BIC) -35 P:| 18.30 : 1.70 | Total VP: 71.85 Rank:
EW: E1E1¥ EE%(EAC) 35 EW: 221# #iEB(FOo) 3 IMP:| 40 7 2
I
# 11 4 T632 6HW-1 50 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SW2 -110 Mean: 4DS4 130 50 1
v3 6CE6 -920 -850 4HW6 480 9.0 2 v AKT8 2SW2 -110 -40  3DS4 130 50 2
» K942 Dif: 970 NsS:14 A 00 6 + K864 Dif: 0 NS:-2 2NN2 120 40 1
» 1742 IMP: 14 EW:2 6CE6 920 -20 1 » 963 IMP: 0 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2swW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 3NW3 -400 Mean: 5CW-1 50 60 3
v AJ9532 4HNG6 680 670 A 00 6 v T9632 5SXN-5-1100 -170 5CE-1 50 60 3
. Dif: 0 NS:0 4HN6 680 00 8 o AJ7 Dif: 700 NS:-6 3NW-1 50 60 1
& AT765 IMP: 0 EW:0 4HN5 650 1.0 7 & IMP: 12 EW:14 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 ¢KT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 3NW3 -400 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 1HW2 -110 Mean: 4SS4 420 8.0 1
v 74 2SE4 -170 -240 2HS2 110 80 1 v J4 1NW1-90 70  3HW-3 300 6.0 1
¢ T86 Dif: -230 NS:-4 3SE3 4140 30 1 ¢ JT8 Dif: -20 NS:-5 2SN4 170 30 1
» J864 IMP: -6 EW:-2 3DW5 4150 3.0 1 » AQ64 IMP: -1 EW:4 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ ¢52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 -400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE-1 50 Mean: 4SE-2 100 30 2
v K764 3NW3 -400 -270 2NE2 120 40 1 v 863 3SW3-140 -20  2NE-2 100 30 1
¢ 976 Dif: 0 NS:-4 A 00 6 + K764 Dif: 190 NS:2 4Sw-1 50 20 1
& J82 IMP: 0 EW:4 3NW4 430 -40 2 & A4 IMP: 5 EW:3 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 4DE-1100 Mean: 3SXN3 730 120 1
v KQ842 4HN5 450 480 A 00 6 v AT5 4SN-3-300 10  3NXW-2 500 10.0 1
¢ 65 Dif: 0 NS:-1 4HS6 480 00 1 *J Dif: 400 NS:3 2SN3 140 40 2
& AQ8 IMP: 0 EW:1 4HN6 480 00 3 » KJ83 IMP: 9 EW:7 4DE-1 100 30 3
s KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 & 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 P OVABN 4,032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 BEA(84.95) #2: 1 F9E5(71.85) #3 3 }I%T%jt(@ 7)
2 NS: 2T EHEGEO) -9 3 NS: i&£F% S EA(BAC) -2 P:| 6.86 : 13.14| Total VP: 55.64 Rank:
EW: EEEH#} 2t/51ERAC) 2 EW: % SE5F(BI0) 9 IMP:| © 9 4
I
# 11 4 T632 6NE6 -990 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SE2 -110 Mean: 4DS4 130 50 1
v3 6HW6 -980 -850 4HW6 480 9.0 2 v AKT8 2NN2 120 -40 3DS4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: -230 NS:-2 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: -6 EW:-4 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2swW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HN5 650 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CW-150 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 650 670 A 00 6 v T9632 5CE-150 -170 5CE-1 50 60 3
. Dif: 0 NS:-1 4HN6 680 00 8 o AJ7 Dif: 0 NS:6 3NW-1 50 60 1
& AT765 IMP: 0 EW:1 4HN5 650 1.0 7 & IMP: 0 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢ VAN oAK842 FeVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 4SE5 -450 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 1SN3 140 Mean: 4SS4 420 8.0 1
v 74 4SE4 -420 240 2HS2 110 80 1 v J4 2SS3140 70  3HW-3 300 6.0 1
¢ T86 Dif: -30 NS:-5 3SE3 4140 30 1 ¢ JT8 Dif: 0 NS:2 2SN4 170 30 1
» J864 IMP: -1 EW:5 3DW5 4150 3.0 1 » AQ64 IMP: 0 EW:-2 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 470 2.0 3 ||v KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ ¢52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 -400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE-1 50 Mean: 4SE-2 100 30 2
v K764 3NW3 -400 -270 2NE2 120 40 1 v 863 4SE-2100 -20  2NE-2 100 30 1
¢ 976 Dif: 0 NS:-4 A 00 6 + K764 Dif: -50 NS:2 4Sw-1 50 20 1
& J82 IMP: 0 EW:4 3NW4 430 -40 2 & A4 IMP: -2 EW:-3 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
®eVAN A8 FOVAN 3 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HS6 480 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3DE3 -110 Mean: 3SXN3 730 120 1
v KQ842 4HNG6 480 480 A 00 6 v AT5 3SN-1-100 10  3NXW-2 500 10.0 1
¢ 65 Dif: 0 NS:0 4HS6 480 00 1 *J Dif: -10 NS:-3 2SN3 140 40 2
& AQ8 IMP: 0 EW:0 4HN6 480 00 3 » KJ83 IMP: 0 EW:3 4DE-1 100 30 3
s KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 » 974 & 65 3DE3 110 3.0 2
oV ABN 4432 P OVABN 4,032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 95”%(71 85) #3 3 }I%T%jt(w 7)
3 NS: &84 FHEEEIC) -2 2 NS: 27T ZHRZ(B0) -9 P:{13.14 : 6.86 | Total VP: 59.70 Rank:
EW: Z$H5 SFESFI(BE0) 9 EW: EEf JET51E(BAC) 2 IMP:| 9 ;0 3
I
# 11 4 T632 6NE6 990 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SE2 110 Mean: 4DS4 130 50 1
v3 6HW6 980 -850 4HW6 480 9.0 2 v AKT8 2NN2-120 -40  3DS4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: 230 NS:4 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: 6 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HN5 -650 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CW-1-50 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 -650 670 A 00 6 v T9632 5CE-1-50 -170 5CE-1 50 60 3
. Dif: 0 NS:-1 4HN6 680 00 8 o AJ7 Dif: 0 NS:6 3NW-1 50 60 1
& AT765 IMP: 0 EW:1 4HN5 650 1.0 7 & IMP: 0 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 4SE5 450 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 1SN3 -140 Mean: 4SS4 420 8.0 1
v 74 4SE4 420 -240 2HS2 110 80 1 v J4 2SS3-140 70  3HW-3 300 6.0 1
¢ T86 Dif: 30 NS:-5 3SE3 4140 30 1 ¢ JT8 Dif: 0 NS:2 2SN4 170 30 1
» J864 IMP: 1 EW:5 3DW5 4150 3.0 1 » AQ64 IMP: 0 EW:-2 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 470 2.0 3 ||v KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE-1 -50 Mean: 4SE-2 100 30 2
v K764 3NW3 400 -270 2NE2 120 40 1 v 863 4SE-2 100 -20  2NE-2 100 30 1
¢ 976 Dif: 0 NS:-4 A 00 6 + K764 Dif: 50 NS:3 4Sw-1 50 20 1
& J82 IMP: 0 EW:4 3NW4 430 -40 2 & A4 IMP: 2 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
®eVAN A8 ¢VAN 23 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HS6 -480 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3DE3 110 Mean: 3SXN3 730 120 1
v KQ842 4HNG6 -480 480 A 00 6 v AT5 3SN-1100 10  3NXW-2 500 10.0 1
¢ 65 Dif: 0 NS:0 4HS6 480 00 1 *J Dif: 10 NS:-3 2SN3 140 40 2
& AQ8 IMP: 0 EW:0 4HN6 480 00 3 » KJ83 IMP: 0 EW:3 4DE-1 100 30 3
s KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 P OVABN 4,032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 BEA(84.95) #2: 1 F9E5(71.85) #3 3 }I%T%jt(w 7)
4 NS: BRZEEZ2 JeiEi(GEO) 44 1 O NS: REH ZEUE(BAC) -21 P:{ 20.00 : 0.00 | Total VP: 51.64 Rank:
EW: BERE BREE(AC) 21 EW: BiF{® BR5a%(BAO) -4 IMP:| 62 6 7
I
# 11 a 1632 4HW6 -480 Mean: 6HW-1 50 14.0 1 [|# 12 s 95 3DS4 130 Mean: 4DS4 130 50 1
v3 6NE6 -990 -850 4HW6 480 9.0 2 v AKT8 2SW3 -140 -40  3DS4 130 50 2
» K942 Dif: 510 NS:9 A 00 6 + K864 Dif: 270 NS:5 2NN2 120 40 1
» 1742 IMP: 11 EW:4 6CE6 920 -20 1 » 963 IMP: 7 EW:3 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2swW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 3DXE-3 800 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 3HS-3 -150 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 650 670 A 00 6 v T9632 3NE3 -400 -170 5CE-1 50 60 3
. Dif: 150 NS:4 4HN6 680 00 8 o AJ7 Dif: 250 NS:1  3NW-1 50 60 1
& AT765 IMP: 4 EW:1 4HN5 650 1.0 7 & IMP: 6 EW:6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢ VAN oAK842 FeVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 2HS2 110 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 3HW-3 300 Mean: 4SS4 420 8.0 1
v 74 3DW5-150 -240 2HS2 110 80 1 v J4 1HW1-80 70  3HW-3 300 6.0 1
¢ T86 Dif: 260 NS:8 3SE3 4140 30 1 ¢ JT8 Dif: 380 NS:6 2SN4 170 30 1
» J864 IMP: 6 EW:-3 3DW5 4150 3.0 1 » AQ64 IMP: 9 EW:4 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 470 2.0 3 ||v KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 2NE2 -120 Mean: 3NW-1 50 80 4 |(|# 18 a T74 2NE-2 100 Mean: 4SE-2 100 30 2
v K764 3NW-150 -270 2NE2 120 40 1 v 863 4SE5 -450 -20  2NE-2 100 30 1
¢ 976 Dif: -170 NS:4 A 00 6 + K764 Dif: 550 NS:3 4SW-1 50 20 1
& J82 IMP: -5 EW:-8 3NW4 430 -40 2 & A4 IMP: 11 EW:10 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HNG6 480 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 2SN3 140 Mean: 3SXN3 730 120 1
v KQ842 3NS7 520 480 A 00 6 v AT5 3SN-2-200 10  3NXW-2 500 10.0 1
¢ 65 Dif: -40 NS:0 4HS6 480 00 1 *J Dif: 340 NS:4 2SN3 140 40 2
& AQ8 IMP: -1 EW:-1 4HN6 480 00 3 » KJ83 IMP: 8 EW:5 4DE-1 100 30 3
s KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 » 974 & 65 3DE3 110 3.0 2
oV ABN 4432 P OVABN 4,032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 BEA(84.95) #2: 1 F9E5(71.85) #3 3 }I%T%jt(@ 7)
5 NS: B REEGEHO) -2 16 NS: BR1&:E BREISZ(BAC) 3 P:| 815 : 11.85| Total VP: 50.81 Rank:
EW: #k RiE EREEIEIC) -3 EW: SBEUE E30H(BIO) 2 IMP:| 18 23 9
I
# 11 4 T632 6NE6 -990 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SE2 -110 Mean: 4DS4 130 50 1
v3 6NE6 -990 -850 4HW6 480 9.0 2 v AKT8 4DS-1-100 -40  3DS4 130 50 2
» K942 Dif: 0 NS:-4 A 00 6 + K864 Dif: -10 NS:-2 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: 0 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 *2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2swW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HN5 650 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 3NW3 -400 Mean: 5CW-1 50 60 3
v AJ9532 4HNG6 680 670 A 00 6 v T9632 3NW-150 -170 5CE-1 50 60 3
. Dif: -30 NS:-1 4HN6 680 00 8 o AJ7 Dif: -450 NS:-6 3NW-1 50 60 1
& AT765 IMP: -1 EW:0 4HN5 650 1.0 7 & IMP: -10 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢ VAN oAK842 FeVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 2SE3 -140 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 1NW1 -90 Mean: 4SS4 420 8.0 1
v 74 2SE5-200 -240 2HS2 110 80 1 v J4 4S5S4 420 70  3HW-3 300 6.0 1
¢ T86 Dif: 60 NS:3 3SE3 4140 30 1 ¢ JT8 Dif: -510 NS:-4 2SN4 170 30 1
» J864 IMP: 2 EW:-1  3DW5 4150 3.0 1 » AQ64 IMP: -11 EW:-8 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 470 2.0 3 ||v KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ ¢52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 » K96 3NW-150 Mean: 3NW-1 50 80 4 ||# 18 s T74 4SW-1 50 Mean: 4SE-2 100 30 2
v K764 3NW4 -430 -270  2NE2 120 40 1 v 863 4SE-150 20  2NE-2 100 30 1
¢ 976 Dif: 480 NS:8 A 00 6 + K764 Dif: 0 NS:2 4Sw-1 50 20 1
& J82 IMP: 10 EW:4 3NW4 430 -40 2 & A4 IMP: 0 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 oo VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 4DE-1100 Mean: 3SXN3 730 120 1
v KQ842 4HNG6 480 480 A 00 6 v AT5 3DE5-150 10  3NXW-2 500 10.0 1
¢ 65 Dif: -30 NS:-1 4HS6 480 00 1 *J Dif: 250 NS:3 2SN3 140 40 2
& AQ8 IMP: -1 EW:0 4HN6 480 00 3 » KJ83 IMP: 6 EW:4 4DE-1 100 30 3
s KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 » 974 & 65 3DE3 110 3.0 2
oV ABN 4432 P OVABN 4,032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 95”%(71 85) #3 3 }I%T%jt(w 7)
6 NS: $E{&EE BEERGHO) -17 1 5 NS: #imE E2E(EAC) 4 P:| 425 : 15.75| Total VP: 29.45 Rank:
EW: BEEEE BRI (BAC) -4 EW: SRR B%IH(BO) 17 IMP:| 17 36 20
I
# 11 4 T632 6HW6 -980 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SW2 -110 Mean: 4DS4 130 50 1
v3 6NE6 -990 -850 4HW6 480 9.0 2 v AKT8 3DS4130 -40  3DS4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: -240 NS:-2 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: -6 EW:-5 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HN5 650 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CE-1 50 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 650 670 A 00 6 v T9632 3NW4 -430 -170  5CE-1 50 60 3
. Dif: 0 NS:-1 4HN6 680 00 8 o AJ7 Dif: 480 NS:6 3NW-1 50 60 1
& AT765 IMP: 0 EW:1 4HN5 650 1.0 7 & IMP: 10 EW:6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 5DW-2 100 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 2SS3 140 Mean: 4SS4 420 8.0 1
v 74 2SE4 -170 -240 2HS2 110 80 1 v J4 2SS3140 70  3HW-3 300 6.0 1
¢ T86 Dif: 270 NS:8 3SE3 4140 30 1 ¢ JT8 Dif: 0 NS:2 2SN4 170 30 1
» J864 IMP: 7 EW:-2 3DW5 4150 3.0 1 » AQ64 IMP: 0 EW:-2 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW4 -430 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE4 -420 Mean: 4SE-2 100 30 2
v K764 3NW-150 -270 2NE2 120 40 1 v 863 4SE-150 -20 2NE-2 100 30 1
¢ 976 Dif: -480 NsS:-4 A 00 6 + K764 Dif: -470 NS:-9 4SW-1 50 20 1
& J82 IMP: -10 EW:-8 3NW4 430 -40 2 & A4 IMP: -10 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3NW3 -600 Mean: 3SXN3 730 120 1
v KQ842 4HN5 450 480 A 00 6 v AT5 3DE3-110 10  3NXW-2 500 10.0 1
¢ 65 Dif: 0 NS:-1 4HS6 480 00 1 *J Dif: -490 NS:-12 2SN3 140 40 2
& AQ8 IMP: 0 EW:1 4HN6 480 00 3 » KJ83 IMP: -10 EW:3 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 *”%(71 85) #3 3 }I%T%jt(@ 7)
7 NS: EHFEE BN GEGE0) 7 1 1 NS: 83555 RER(EAC) 2 P:| 12.51 : 7.49 Total VP: 47.82 Rank:
EW: BEE% S FAEAC) -2 EW: EFE Rtt35(BAO) -7| IMP:| 24 17 17
I
# 11 a 1632 6NE6 -990 Mean: 6HW-1 50 14.0 1 [|# 12 s 95 4DS4 130 Mean: 4DS4 130 50 1
v3 6HW6 -980 -850 4HW6 480 9.0 2 v AKT8 2SW3 -140 -40  3DS4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: 270 NS:5 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: 7 EW:3 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CW-150 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 650 670 A 00 6 v T9632 5CE-150 -170 5CE-1 50 60 3
. Dif: 30 NS:0 4HN6 680 00 8 o AJ7 Dif: 0 NS:6 3NW-1 50 60 1
& AT765 IMP: 1 EW:1 4HN5 650 1.0 7 & IMP: 0 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 3SE3 -140 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 1NW2 -120 Mean: 4SS4 420 8.0 1
v 74 4SE4 -420 240 2HS2 110 80 1 v J4 1NW1-90 70  3HW-3 300 6.0 1
¢ T86 Dif: 280 NS:3 3SE3 4140 30 1 ¢ JT8 Dif: -30 NS:-5 2SN4 170 30 1
» J864 IMP: 7 EW:5 3DW5 4150 3.0 1 » AQ64 IMP: -1 EW:4 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 -400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 3SE3 -140 Mean: 4SE-2 100 30 2
v K764 3NW-150 -270 2NE2 120 40 1 v 863 1NE-150 -20  2NE-2 100 30 1
¢ 976 Dif: -450 NS:-4 A 00 6 + K764 Dif: -190 NS:-3 4SW-1 50 20 1
& J82 IMP: -10 EW:-8 3NW4 430 -40 2 & A4 IMP: -5 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HS5 450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3NXW-2 500 Mean: 3SXN3 730 120 1
v KQ842 3NS6490 480 A 00 6 v AT5 4DE-1100 10  3NXW-2 500 10.0 1
¢ 65 Dif: -40 NS:-1 4HS6 480 00 1 *J Dif: 400 NS:10 2SN3 140 40 2
& AQ8 IMP: -1 EW:0 4HN6 480 00 3 » KJ83 IMP: 9 EW:-3 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 BEA(84.95) #2: 1 F9E5(71.85) #3 3 )I%f%jt(w 7)
8 NS: FfE REBEC) -35 1 NS: E}X48 RBRFH(BAO) -3 P:{ 1.70 : 18.30| Total VP: 45.07 Rank:
EW: 2R1E #E 8B (5H0) 3 EW: 81818 REM(BAC) 35 IMP:| 7 40 18
I
# 11 4 T632 6HW-1-50 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SW2 110 Mean: 4DS4 130 50 1
v3 6CE6 920 -850 4HW6 480 9.0 2 v AKT8 2SW2110 -40  3DS4 130 50 2
» K942 Dif: -970 NsS:-2 A 00 6 + K864 Dif: 0 NS:-2 2NN2 120 40 1
» 1742 IMP: -14 EW:-14 6CE6 920 -20 1 » 963 IMP: 0 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e JO93 .2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 -680 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 3NW3 400 Mean: 5CW-1 50 60 3
v AJ9532 4HNG6 -680 670 A 00 6 v T9632 5SXN-51100 -170 5CE-1 50 60 3
. Dif: 0 NS:0 4HN6 680 00 8 o AJ7 Dif: -700 NS:-14 3NW-1 50 60 1
& AT765 IMP: 0 EW:0 4HN5 650 1.0 7 & IMP: -12 EW:6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 FeVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 3NW3 400 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 1HW2 110 Mean: 4SS4 420 8.0 1
v 74 2SE4 170 -240 2HS2 110 80 1 v J4 1INW190 70  3HW-3 300 6.0 1
¢ T86 Dif: 230 NS:2 3SE3 4140 30 1 ¢ JT8 Dif: 20 NS:-4 2SN4 170 30 1
» J864 IMP: 6 EW:4 3DW5 4150 3.0 1 » AQ64 IMP: 1 EW:5 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 470 2.0 3 ||v KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE-1 -50 Mean: 4SE-2 100 30 2
v K764 3NW3 400 -270 2NE2 120 40 1 v 863 3SW3140 -20  2NE-2 100 30 1
¢ 976 Dif: 0 NS:-4 A 00 6 + K764 Dif: -190 NS:-3 4SW-1 50 20 1
& J82 IMP: 0 EW:4 3NW4 430 -40 2 & A4 IMP: -5 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 -450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 4DE-1-100 Mean: 3SXN3 730 120 1
v KQ842 4HN5 -450 480 A 00 6 v AT5 4SN-3300 10  3NXW-2 500 10.0 1
¢ 65 Dif: 0 NS:-1 4HS6 480 0.0 1 *J Dif: -400 NS:-7 2SN3 140 40 2
& AQ8 IMP: 0 EW:1 4HN6 480 00 3 » KJ83 IMP: -9 EW:-3 4DE-1 100 30 3
s KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 » 974 & 65 3DE3 110 3.0 2
oV ABN 4432 P OVABN 4,032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 *”%(71 85) #3 3 J%f%jt(@ 7)
9 NS: {3EH FEMRBO) 11 13 NS: Rttt %R K (BAC) -6 P:| 15.75 : 4.25 | Total VP: 84.95 Rank:
EW: ZEREJR B7E/KEAC) 6 EW: £55 15EE(FO) -1 IMP:| 25 6 1
I
# 11 4 T632 6HW6 -980 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SW2 -110 Mean: 4DS4 130 50 1
v3 6NE6 -990 -850 4HW6 480 9.0 2 v AKT8 2SW2 -110 -40  3DS4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: 0 NS:-2 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: 0 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2swW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CW-150 Mean: 5CW-1 50 60 3
v AJ9532 4HNG6 680 670 A 00 6 v T9632 3NE4 -430 -170 5CE-1 50 60 3
. Dif: 0 NS:0 4HN6 680 00 8 o AJ7 Dif: 480 NS:6 3NW-1 50 60 1
& AT765 IMP: 0 EW:0 4HN5 650 1.0 7 & IMP: 10 EW:6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 ¢KT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 3NW3 -400 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 2SN4 170 Mean: 4SS4 420 8.0 1
v 74 2SE4 -170 -240 2HS2 110 80 1 v J4 2SS2110 70  3HW-3 300 6.0 1
¢ T86 Dif: -230 NS:-4 3SE3 4140 30 1 ¢ JT8 Dif: 60 NS:3 2SN4 170 30 1
» J864 IMP: -6 EW:-2 3DW5 4150 3.0 1 » AQ64 IMP: 2 EW:-1 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ ¢52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 -400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE-2 100 Mean: 4SE-2 100 30 2
v K764 3NW3 -400 -270 2NE2 120 40 1 v 863 4SE-150 -20  2NE-2 100 30 1
¢ 976 Dif: 0 NS:-4 A 00 6 + K764 Dif: 50 NS:3 4Sw-1 50 20 1
& J82 IMP: 0 EW:4 3NW4 430 -40 2 & A4 IMP: 2 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 3NS7 520 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3SXN3 730 Mean: 3SXN3 730 120 1
v KQ842 3NS7520 480 A 00 6 v AT5 2SN3140 10  3NXW-2 500 100 1
¢ 65 Dif: 0 NS:1 4HS6 480 00 1 *J Dif: 590 NS:12 2SN3 140 40 2
& AQ8 IMP: 0 EW:-1 4HN6 480 00 3 » KJ83 IMP: 11 EW:-4 4DE-1 100 30 3
s KT & QJB75 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 & 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 P OVABN 4,032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 95”%(71 85) #3 3 )I%T%jt(@ 7)
1 O NS: BREH ZESCREEC) -21 4 NS: BR¥F 2 Ja#(B0) 44| P:| 0.00 : 20.00| Total VP: 0.00 Rank:
EW: BT BEGFEEHO) -4 EW: [R%# ERE & (FAC) 21 IMP:| 6 62 22
I
# 11 a 1632 4HW6 480 Mean: 6HW-1 50 140 1 [[|# 12 s 95 3DS4 -130 Mean: 4DS4 130 50 1
v3 6NE6 990 -850 4HW6 -480 9.0 2 v AKTS8 2SW3 140 -40 3Ds4 130 50 2
» K942 Dif: -510 NS:-4 A 00 6 + K864 Dif: -270 NS:-3 2NN2 120 40 1
» 1742 IMP: -11 EW:-9 6CE6 920 -20 1 » 963 IMP: -7 EW:-5 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 3DXE-3 -800 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 3HS-3150 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 -650 670 A 00 6 v T9632 3NE3 400 -170 5CE-1 50 60 3
. Dif: -150 NS:-1  4HN6 680 00 8 o AJ7 Dif: -250 NS:-6 3NW-1 50 60 1
& AT765 IMP: -4 EW:-4 4HN5 650 1.0 7 & IMP: -6 EW:-1 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 2HS2 110 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 3HW-3 -300 Mean: 4SS4 420 8.0 1
v 74 3DW5 150 -240 2HS2 110 80 1 v J4 1HW180 70  3HW-3 300 6.0 1
¢ T86 Dif: -260 NS:3 3SE3 4140 30 1 ¢ JT8 Dif: -380 NS:-4 2SN4 170 30 1
» J864 IMP: -6 EW:-8 3DW5 4150 3.0 1 » AQ64 IMP: -9 EW:-6 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 2NE2 120 Mean: 3NW-1 50 80 4 |(|# 18 a T74 2NE-2 -100 Mean: 4SE-2 100 30 2
v K764 3NW-1-50 -270 2NE2 120 40 1 v 863 4SE5450 -20  2NE-2 100 30 1
¢ 976 Dif: 170 NsS:8 A 00 6 + K764 Dif: -550 NS:-10 4SW-1 50 20 1
& J82 IMP: 5 EW:-4 3NW4 430 -40 2 & A4 IMP: -11 EW:-3 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HNG6 -480 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 2SN3 -140 Mean: 3SXN3 730 120 1
v KQ842 3NS7-520 480 A 00 6 v AT5 3SN-2200 10  3NXW-2 500 10.0 1
¢ 65 Dif: 40 NS:1  4HS6 480 00 1 *J Dif: -340 NS:-5 2SN3 140 40 2
& AQ8 IMP: 1 EW:0 4HN6 480 00 3 » KJ83 IMP: -8 EW:-4 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 BEA(84.95) #2: 1 F9E5(71.85) #3 3 J%f%jt(w 7)
1 1 NS: #¥%5E BEEREAC) 2 7 NS: E5E HHEE0) 7 P:| 7.49 : 12.51| Total VP: 43.06 Rank:
EW: E5 B BEHES(BEO) -7 EW: REZL IH(BAC) -2 IMP:| 17 24 19
I
# 11 a 1632 6NE6 990 Mean: 6HW-1 50 14.0 1 [|# 12 s 95 4DS4 -130 Mean: 4DS4 130 50 1
v3 6HWG6 980 -850 4HW6 -480 9.0 2 v AKTS8 2SW3 140 -40 3Ds4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: -270 NS:-3 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: -7 EW:-5 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 -680 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CW-1-50 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 -650 670 A 00 6 v T9632 5CE-1-50 -170 5CE-1 50 60 3
. Dif: -30 NS:-1 4HN6 680 00 8 o AJ7 Dif: 0 NS:6 3NW-1 50 60 1
& AT765 IMP: -1 EW:0 4HN5 650 1.0 7 & IMP: 0 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 3SE3 140 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 1NW2 120 Mean: 4SS4 420 8.0 1
v 74 4SE4 420 -240 2HS2 110 80 1 v J4 1INW190 70  3HW-3 300 6.0 1
¢ T86 Dif: -280 NS:-5 3SE3 4140 30 1 ¢ JT8 Dif: 30 NS:-4 2SN4 170 30 1
» J864 IMP: -7 EW:-3 3DW5 4150 3.0 1 » AQ64 IMP: 1 EW:5 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 470 2.0 3 ||v KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 3SE3 140 Mean: 4SE-2 100 30 2
v K764 3NW-1-50 -270 2NE2 120 40 1 v 863 1NE-1-50 -20  2NE-2 100 30 1
¢ 976 Dif: 450 NS:8 A 00 6 + K764 Dif: 190 NS:2 4Sw-1 50 20 1
& J82 IMP: 10 EW:4 3NW4 430 -40 2 & A4 IMP: 5 EW:3 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HS5 -450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3NXW-2 -500 Mean: 3SXN3 730 120 1
v KQ842 3NS6-490 480 A 00 6 v AT5 4DE-1-100 10  3NXW-2 500 10.0 1
¢ 65 Dif: 40 NS:0 4HS6 480 00 1 *J Dif: -400 NS:3 2SN3 140 40 2
& AQ8 IMP: 1 EW:1 4HN6 480 00 3 » KJ83 IMP: -9 EW:-10 4DE-1 100 30 3
s KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 » 974 & 65 3DE3 110 3.0 2
oV ABN 4432 P OVABN 4,032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 95”%(71 85) #3 3 }I%T%jt(w 7)
1 2 NS: ¥l ST HRIN®EGH0) 4 14 NS: #tiRiE Z=HEBAC) 5 P:| 9.61 : 10.39| Total VP: 50.09 Rank:
EW: &% 5 BEFZEEAC) -5 EW: [R5 E1#&1E5(BAO) -4 IMP:| 11 12 1
I
# 11 4 T632 6NW6 -990 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 1NW-2 100 Mean: 4DS4 130 50 1
v3 4HW6 -480 -850 4HW6 480 9.0 2 v AKT8 2SW2 -110 -40  3DS4 130 50 2
» K942 Dif: -510 NS:-4 A 00 6 + K864 Dif: 210 NS:4 2NN2 120 40 1
» 1742 IMP: -11 EW:-9 6CE6 920 -20 1 » 963 IMP: 5 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 3NE-1 50 Mean: 5CW-1 50 60 3
v AJ9532 4HNG6 680 670 A 00 6 v T9632 3NE-150 -170 5CE-1 50 60 3
. Dif: 0 NS:0 4HN6 680 00 8 o AJ7 Dif: 0 NS:6 3NW-1 50 60 1
& AT765 IMP: 0 EW:0 4HN5 650 1.0 7 & IMP: 0 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 4SE4 -420 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 2SN3 140 Mean: 4SS4 420 8.0 1
v 74 4SE4 -420 -240 2HS2 110 80 1 v J4 1NW-1100 70  3HW-3 300 6.0 1
¢ T86 Dif: 0 NS:-5 3SE3 4140 30 1 ¢ JT8 Dif: 40 NS:2 2SN4 170 30 1
» J864 IMP: 0 EW:5 3DW5 4150 3.0 1 » AQ64 IMP: 1 EW:-1 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 -400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 ANE-1 50 Mean: 4SE-2 100 30 2
v K764 3NW3 -400 -270 2NE2 120 40 1 v 863 4SE-150 -20 2NE-2 100 30 1
¢ 976 Dif: 0 NS:-4 A 00 6 + K764 Dif: 0 NS:2 4Sw-1 50 20 1
& J82 IMP: 0 EW:4 3NW4 430 -40 2 & A4 IMP: 0 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
®eVAN A8 ¢VAN 23 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 3NS6 490 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 2SN2 110 Mean: 3SXN3 730 120 1
v KQ842 3NS7 520 480 A 00 6 v AT5 3SN-1-100 10  3NXW-2 500 10.0 1
¢ 65 Dif: -30 NS:0 4HS6 480 00 1 *J Dif: 210 NS:3 2SN3 140 40 2
& AQ8 IMP: -1 EW:-1 4HN6 480 00 3 » KJ83 IMP: 5 EW:3 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 95”%(71 85) #3 3 }I%T%jt(w 7)
1 3 NS: S AR AREAC) -6 9 NS: #B{E3E HFER(F0) 11 P:| 425 : 15.75| Total VP: 55.53 Rank:
EW: &8 BIFEEI0) -11 EW: ZZ8EI8 £/ K(BAC) 6 IMP:| 6 25 5
I
# 11 4 T632 6HW6 980 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SW2 110 Mean: 4DS4 130 50 1
v3 6NE6 990 -850 4HW6 480 9.0 2 v AKT8 2SW2110 -40  3DS4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: 0 NS:-2 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: 0 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 -680 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CW-1-50 Mean: 5CW-1 50 60 3
v AJ9532 4HNG6 -680 670 A 00 6 v T9632 3NE4 430 -170 5CE-1 50 60 3
. Dif: 0 NS:0 4HN6 680 00 8 o AJ7 Dif: -480 NS:-6 3NW-1 50 60 1
& AT765 IMP: 0 EW:0 4HN5 650 1.0 7 & IMP: -10 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 3NW3 400 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 2SN4 170 Mean: 4SS4 420 8.0 1
v 74 2SE4 170 -240 2HS2 110 80 1 v J4 2SS2-110 70  3HW-3 300 6.0 1
¢ T86 Dif: 230 NS:2 3SE3 4140 30 1 ¢ JT8 Dif: -60 NS:1 2SN4 170 30 1
» J864 IMP: 6 EW:4 3DW5 4150 3.0 1 » AQ64 IMP: -2 EW:-3 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE-2 -100 Mean: 4SE-2 100 30 2
v K764 3NW3 400 -270 2NE2 120 40 1 v 863 4SE-1-50 -20 2NE-2 100 30 1
¢ 976 Dif: 0 NS:-4 A 00 6 + K764 Dif: -50 NS:2 4Sw-1 50 20 1
& J82 IMP: 0 EW:4 3NW4 430 -40 2 & A4 IMP: -2 EW:-3 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 3NS7 -520 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3SXN3 -730 Mean: 3SXN3 730 120 1
v KQ842 3NS7-520 480 A 00 6 v AT5 2SN3 -140 10  3NXW-2 500 10.0 1
¢ 65 Dif: 0 NS:1 4HS6 480 00 1 *J Dif: -590 NS:4 2SN3 140 40 2
& AQ8 IMP: 0 EW:-1 4HN6 480 00 3 » KJ83 IMP: -11 EW:-12 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1




X AY 3z }\ —_
5 111 F<F >ApERE ® ==> RH 5
AVA
#1: 9 B 2(84.95) #2: 1 95”%(71 85) #3 3 }I%T%jt(w 7)
1 4 NS: #ipME £F22EHC) 5 12 NS: B SIRMM(BHO) 4 P:| 10.39 : 9.61 Total VP: 52.95 Rank:
EW: BEiHE FEMEEI0) 4 EW: 2ZH R#ER(EAC) -5 IMP:| 12 1 6
I
# 11 4 T632 6NW6 990 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 1NW-2 -100 Mean: 4DS4 130 50 1
v3 4HW6 480 -850 4HW6 480 9.0 2 v AKT8 2SW2110 -40  3DS4 130 50 2
» K942 Dif: 510 NS:9 A 00 6 + K864 Dif: -210 NS:-2 2NN2 120 40 1
» 1742 IMP: 11 EW:4 6CE6 920 -20 1 » 963 IMP: -5 EW:-4 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 -680 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 3NE-1-50 Mean: 5CW-1 50 60 3
v AJ9532 4HNG6 -680 670 A 00 6 v T9632 3NE-1-50 -170 5CE-1 50 60 3
. Dif: 0 NS:0 4HN6 680 00 8 o AJ7 Dif: 0 NS:6 3NW-1 50 60 1
& AT765 IMP: 0 EW:0 4HN5 650 1.0 7 & IMP: 0 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 4SE4 420 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 2SN3 -140 Mean: 4SS4 420 8.0 1
v 74 4SE4 420 -240 2HS2 110 80 1 v J4 ANW-1-100 70  3HW-3 300 6.0 1
¢ T86 Dif: 0 NS:-5 3SE3 4140 30 1 ¢ JT8 Dif: -40 NS:1 2SN4 170 30 1
» J864 IMP: 0 EW:5 3DW5 4150 3.0 1 » AQ64 IMP: -1 EW:-2 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW3 400 Mean: 3NW-1 50 80 4 |(|# 18 a T74 1NE-1 -50 Mean: 4SE-2 100 30 2
v K764 3NW3 400 -270 2NE2 120 40 1 v 863 4SE-1-50 -20 2NE-2 100 30 1
¢ 976 Dif: 0 NS:-4 A 00 6 + K764 Dif: 0 NS:2 4Sw-1 50 20 1
& J82 IMP: 0 EW:4 3NW4 430 -40 2 & A4 IMP: 0 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
®eVAN A8 ¢VAN 23 4SE4 420 9.0 1
N ~~~~~ v 792 N 3~3~~ »AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 3NS6 -490 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 2SN2 -110 Mean: 3SXN3 730 120 1
v KQ842 3NS7-520 480 A 00 6 v AT5 3SN-1100 10  3NXW-2 500 10.0 1
¢ 65 Dif: 30 NS:1  4HS6 480 00 1 *J Dif: -210 NS:-3 2SN3 140 40 2
& AQ8 IMP: 1 EW:0 4HN6 480 00 3 » KJ83 IMP: -5 EW:-3 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1
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AVA
#1: 9 B 2(84.95) #2: 1 95”%(71 85) #3 3 }I%T%jt(w 7)
1 5 NS: SHEE EEEEFIC) 4 6 NS: $E{#& EEE(FO0) -171 P:| 15.75 : 4.25 Total VP: 50.46 Rank:
EW RS BRBEHO) 17 EW: FREEE HB&l3Z(BAC) -4 IMP:| 36 17 10
# 11 'y T632 6HW6 980 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SW2 110 Mean: 4DS4 130 50 1
v3 6NE6 990 -850 4HW6 480 9.0 2 v AKT8 3DS4 130 -40  3DS4 130 50 2
» K942 Dif: 10 NS:-4 A 00 6 + K864 Dif: 240 NS:5 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: 6 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HN5 -650 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 5CE-1-50 Mean: 5CW-1 50 60 3
v AJ9532 4HN5 -650 670 A 00 6 v T9632 3NW4 430 -170 5CE-1 50 60 3
. Dif: 0 NS:-1 4HN6 680 00 8 o AJ7 Dif: -480 NS:-6 3NW-1 50 60 1
& AT765 IMP: 0 EW:1 4HN5 650 1.0 7 & IMP: -10 EW:-6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 5DW-2 -100 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 2SS3 -140 Mean: 4SS4 420 8.0 1
v 74 2SE4 170 -240 2HS2 110 80 1 v J4 2SS3-140 70  3HW-3 300 6.0 1
¢ T86 Dif: -270 NS:2 3SE3 4140 30 1 ¢ JT8 Dif: 0 NS:2 2SN4 170 30 1
» J864 IMP: -7 EW:-8 3DW5 4150 3.0 1 » AQ64 IMP: 0 EW:-2 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 & K96 3NW4 430 Mean: 3NW-1 50 80 4 |(|# 18 a T74 4SE4 420 Mean: 4SE-2 100 30 2
v K764 3NW-1-50 -270 2NE2 120 40 1 v 863 4SE-1-50 -20  2NE-2 100 30 1
¢ 976 Dif: 480 NS:8 A 00 6 + K764 Dif: 470 NS:2 4Sw-1 50 20 1
& J82 IMP: 10 EW:4 3NW4 430 -40 2 & A4 IMP: 10 EW:9 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 -450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 3NW3 600 Mean: 3SXN3 730 120 1
v KQ842 4HN5 -450 480 A 00 6 v AT5 3DE3110 10  3NXW-2 500 100 1
¢ 65 Dif: 0 NS:-1 4HS6 480 00 1 *J Dif: 490 NsS:-3 2SN3 140 40 2
& AQ8 IMP: 0 EW:1 4HN6 480 00 3 » KJ83 IMP: 10 EW:12 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1
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1 6 NS: BE{EE BESZEHC) 3 5 NS: B REE(BRO) -2 P:| 11.85 : 8.15 Total VP: 50.98 Rank:
EW: SR ¥ S0EBHO) 2 EW: MRIF 2R (BAC) -3 IMP:| 23 18 8
I
# 11 4 T632 6NE6 990 Mean: 6HW-1 50 14.0 1 ||# 12 s 95 2SE2 110 Mean: 4DS4 130 50 1
v3 6NE6 990 -850 4HW6 480 9.0 2 v AKT8 4DS-1100 -40  3DS4 130 50 2
» K942 Dif: 0 NS:-4 A 00 6 + K864 Dif: 10 NS:-2 2NN2 120 40 1
» 1742 IMP: 0 EW:4 6CE6 920 -20 1 » 963 IMP: 0 EW:2 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B¢ VAN 4QI%4 *eVAN 874 2SW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 v»Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HN5 -650 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 3NW3 400 Mean: 5CW-1 50 60 3
v AJ9532 4HNG6 -680 670 A 00 6 v T9632 3NW-1-50 -170 5CE-1 50 60 3
. Dif: 30 NS:0 4HN6 680 00 8 o AJ7 Dif: 450 NS:6 3NW-1 50 60 1
& AT765 IMP: 1 EW:1 4HN5 650 1.0 7 & IMP: 10 EW:6 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
% ¢V BN 4 AKES2 P OVAN o074 3NE4 430 6.0 1
N ~~653 wKT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 » Q952 2SE3 140 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 1NW1 90 Mean: 4SS4 420 8.0 1
v 74 2SE5200 -240 2HS2 110 80 1 v J4 4SS4 -420 70  3HW-3 300 6.0 1
¢ T86 Dif: -60 NS:1  3SE3 4140 30 1 ¢ JT8 Dif: 510 NS:8 2SN4 170 30 1
» J864 IMP: -2 EW:-3 3DW5 4150 3.0 1 » AQ64 IMP: 11 EW:4 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ 52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 » K96 3NW-1-50 Mean: 3NW-1 50 80 4 ||# 18 s T74 4SW-1-50 Mean: 4SE-2 100 30 2
v K764 3NW4 430 -270 2NE2 120 40 1 v 863 4SE-1-50 -20 2NE-2 100 30 1
¢ 976 Dif: -480 NsS:-4 A 00 6 + K764 Dif: 0 NS:2 4Sw-1 50 20 1
& J82 IMP: -10 EW:-8 3NW4 430 -40 2 & A4 IMP: 0 EW:-2 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 -450 Mean: 3NS7 520 1.0 4 ||# 20 4 AT654 4DE-1-100 Mean: 3SXN3 730 120 1
v KQ842 4HNG -480 480 A 00 6 v AT5 3DE5150 10  3NXW-2 500 10.0 1
¢ 65 Dif: 30 NS:0 4HS6 480 00 1 *J Dif: -250 NS:-4 2SN3 140 40 2
& AQ8 IMP: 1 EW:1 4HN6 480 00 3 » KJ83 IMP: -6 EW:-3 4DE-1 100 30 3
& KT & QJ875 3NS6 490 00 2 ||s QJB7 s K 2SN2 110 3.0 1
v 76 v J95 4HS5 450 1.0 1 ||e K2 _I_ v Q963 A 00 6
¢ 9743 ¢ JT2 4HN5 450 1.0 5 ||e 5432 + AKQT96 3SN-1 4100 -3.0 2
& KT765 » 43 & 974 & 65 3DE3 110 3.0 2
oV ABN 4432 oV ABN 4032 3DE5 150 40 1
N ~~6~6 wAT3 N 3~22~ vJ874 3SN-2 200 -5.0 1
S ~~6~6 ¢AKQ8 S 3~22~ 87 4SN-3 300 -7.0 1
E ~~~~~ * J92 E ~3~~1 &AQT2 3NW3 600 -12.0 1
W o~~~ ~ ~ ~3~~1
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AVA N
#1: 9 BEA(34.95) #2: 1 FHEE(71.85) #3: 3 IRIRBWA(59.7)
1 7 NS: (B80) 0 18 NS: (BAC) 0 VP:| 10.00 : 10.00| Total VP: 50.00 Rank:
EW: (FHC) 0 EW: (B10)0 IMP:| 0 0 12
I
# 11 a 1632 Mean: 6HW-1 50 14.0 1 [|# 12 » 95 Mean: 4DS4 130 50 1
v3 -850  4HW6 480 9.0 2 v AKT8 40  3DS4 130 50 2
» K942 Dif: NS:0 A 00 6 + K864 Dif: NS:0 2NN2 120 40 1
» 1742 IMP: EW:0 6CE6 920 -20 1 » 963 IMP: EW:0 1NW-2 100 40 1
4 85 & AK7 6NW6 990 -40 1 ||a QJT2 & AKB3 A 00 6
v AKJ8642 T 6NE6 990 40 7 ||w 42 I v J7653 4DS-1 100 20 1
¢ 83 * AQ75 6HW6 980 -40 4 ||e J93 2 25W2 110 20 6
K8 » AQJ95 » QJT2 & A84 2SE2 110 2.0 2
B+ ¢VAN ,QIH4 FOVAN 4,874 2swW3 140 3.0 2
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 Mean: 3DXE-3 800 40 1 ||# 14 » QJB53 Mean: 5CW-1 50 60 3
v AJ9532 670 A 00 6 v T9632 170 5CE-1 50 60 3
. Dif: NS:0 4HN6 680 00 8 o AJ7 Dif: NS:0 3NW-1 50 60 1
& AT765 IMP: EW:0 4HN5 650 1.0 7 & IMP: EW:0 3NE-1 50 60 2
& Q96 N & J73 a K & AT62 3HS-3 150 1.0 1
v Q4 v 86 v AQJ7 v A 00 6
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 3NW4 -430 6.0 1
& Q94 a KJ32 a J7632 » A9854 3NW3 400 6.0 2
%o ¢ VAN 4, AK842 o eVAN 4,974 3NE4 -430 6.0 1
N ~~653 ¢KT7 N ~~~~~ v K854 3NE3 400 6.0 1
S ~~653 ¢Q974 S ~~~~~ ¢ T43 5SXN-5  -1100 -14.0 1
E ~~~~~ »8 E 53 ~~2 &KQT
W o~~~ ~ ~ 53~~2
# 15 4 Q952 Mean: 5DW-2 100 8.0 1 |[|# 16 s Q754 Mean: 4SS4 420 8.0 1
v74 240  2HS2 110 80 1 v J4 70 3HW-3 300 6.0 1
¢ T86 Dif: NS:0 3SE3 4140 30 1 ¢ JT8 Dif: NS:0 2SN4 170 30 1
» J864 IMP: EW:0 3DW5 4150 3.0 1 » AQ64 IMP: EW:0 2SS3 140 20 3
# T86 a AJ743 2SE3 140 30 1 ||a A3 A JT6 2SN3 140 20 1
v QT v 52 2SE4 4170 20 3 || KQ985 — v T76 1SN3 140 20 1
+ KQ943 * AJ7 2SE5 200 1.0 1 ||e K2 + Q965 2SS2 110 1.0 1
& A5 » K73 A 00 6 ||aKT73 » J98 1NW-1 100 1.0 1
FOVAN K 3NW3 400 -40 2 % ¢ VAN 4 KI82 A 00 6
N 1~ 1~ ~ o AK9863 4SE5 450 50 1|IN ~2~31 » A32 1NW1 90 40 3
S 1~1~~ ¢52 4SE4 420 50 4 ||S ~2~31 ¢A743 1HW1 80 40 1
E ~4~43 Q792 E ~~1~~ &52 1NW2 120 -50 1
W ~4~43 ~~1~~ 1HW2 110 5.0 1
# 17 » K96 Mean: 3NW-1 50 80 4 ||# 18 s T74 Mean: 4SE-2 100 30 2
v K764 270  2NE2 120 40 1 v 863 20 2NE-2 100 30 1
¢ 976 Dif: NS:0 A 00 6 + K764 Dif: NS:0 4SwW-1 50 20 1
& J82 IMP: EW:0 3NW4 430 -40 2 & A4 IMP: EW:0 4SE-1 50 20 6
& Q52 a T743 3NW3 400 -40 9 ||a 9652 a AKQJ8 1NE-1 50 20 2
v A3 v QJ85 v 542 I v KQ7 A 00 6
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32 3sw3 140 -3.0 1
& AQ75 » 64 » J8 & 52 3SE3 140 -30 1
o eVABN ,AS8 ¢VAN 4,3 4SE4 420 9.0 1
N ~~~~ ~ v T92 N 3~3~~ o AJT9 4SE5 450 100 1
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 aKT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 Mean: 3NS7 520 1.0 4 ||# 20 & AT654 Mean: 3SXN3 730 120 1
v KQ842 480 A 00 6 v AT5 10 3NXW-2 500 10.0 1
¢ 65 Dif: NS:0 4HS6 480 00 1 *J Dif: NS:0 2SN3 140 40 2
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